

## MANGALORE REFINERY AND PETROCHEMICALS LIMITED

(A Govt of India Enterprise and Subsidiary of Oil & Natural Gas Corporation Limited)

Notice for Appointment for Regular and Rural Retail Outlet Dealerships in Kerala



## **DETAILED ADVERTISEMENT FOR RETAIL OUTLET DEALERSHIP**

MRPL proposes to appoint retail outlets dealers for its HiQ outlets in the State of Kerala as per the following details:

Loc.No	Name of the Location	Revnue District	Type of RO	Estimated Monthly Sales Potential #	Category	Type of Site*	Rent per month in Rs.P per Sq.mt	Minimum Dimension /Area of the site **		the applica	e arranged by nt in Rs Lakhs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit	
1	2	3	4	5	6	7	7A		8	ı	9a 9b		10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC-1/OPEN CC- 2/OPEN PH	CODO/DO DO/CFS	Only for CODO and CFS sites	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1	On NH 766, between Lakkidi view point & Vythiri Panchayat Office	Wayanad	Regular	150	OBC	DODO	-	35	35	1225	25	85	DOL	15	4
2	On NH 66, from Tavanur Grama Panchayat to Ponnani Police Station.	Malapuram	Regular	150	Open CC-1	DODO	-	30	30	900	25	70	DOL	15	5
3	On SH 39 (Nilambur-Perinthalmanna road), Govt. Higher Sec School, Pullengode to Udirampoyil LP School.	Malapuram	Regular	161	SC	CFS	22.9	30	30	900	-	-	DOL	Nil	3
4	On Kannur road in Kozhikode corporation, between Elathoor Police Station, Kozhikode and Pavangad Devi Kshetram, Kozhikode.	Kozhikode	Regular	165	OBC	CODO	51	30	30	900	25	10	Bidding	30	4
5	On NH 66, between junction of Payyanur College Road at Edat and Vilayancode Post office.	Kannur	Regular	162	Open	CODO	22.9	30	30	900	25	10	Bidding	30	5
6	On SH 34 from Karumala Post Office to Anjoom Convention Center, Vattoli Bazar.	Kozhikode	Regular	155	Open	CODO	22.9	30	30	900	25	10	Bidding	30	5
7	On RHS of NH 66 (towards Kannur from Kozhikode), from Nandi Melpalam (railway over bridge) near Moodadi to Thikody Krishi Bhavan.	Kozhikode	Regular	164	OBC	CODO	22.9	30	30	900	25	10	Bidding	30	4
8	On NH 66, between MIMS hospital, Chala and Edakkad Police Station.	Kannur	Regular	184	SC	CFS	22.9	30	30	900	-	-	DOL	Nil	3
9	On LHS of NH 66 towards Mangalore, from Govt. UP school Adkathbail, Kasargod to Mogralputtur.	Kasargod	Regular	150	Open	DODO	-	30	30	900	25	60	DOL	15	5
10	On NH 766, between Thamarassery check post and Pullanjimedu bus stop.	Kozhikode	Regular	150	Open	DODO	-	35	35	1225	25	85	DOL	15	5
11	On NH 66 (Kozhikode by pass), between Arapuzha bridge and Seva Mandir Higher Sec School.	Kozhikode	Regular	165	OBC	CODO	28	30	30	900	25	10	Bidding	30	4
12	On SH 34, between Areakode Bridge and South Puthalam Junction.	Malapuram	Regular	162	SC	CFS	22.9	30	30	900	-	-	DOL	Nil	3
13	On SH 34 (Thamarassery - Koilandy road), between P C Mukku Bus stop and Chungam bus stop.	Kozhikode	Regular	134	Open	DODO	-	30	30	900	25	70	DOL	15	5
14	On NH 766, between Kolagapara post office to Gulikanthara Temple, Krishnagiri, Wayanad.	Wayanad	Regular	150	Open	DODO	-	35	35	1225	25	85	DOL	15	5
15	Within Kottakkal Municipal limits, on any major road other than NH 66.	Malapuram	Regular	140	OBC PH	DODO	-	30	30	900	25	70	DOL	15	4
16	On Koppam - Valanchery road, within Valanchery municipal limits.	Malapuram	Regular	138	SC PH	CFS	28	30	30	900	-	-	DOL	Nil	3

				Estimated			Rent per							Fixed Fee	
Loc.No	Name of the Location	Revnue District	Type of RO	Monthly Sales Potential #	Category	Type of Site*	month in Rs.P per Sq.mt	Minimum Dimension /Area of the site **			pe arranged by ant in Rs Lakhs	Mode of Selection	Minimum Bid amount	Security Deposit	
1	2	3	4	5	6	7	7A		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC-1/OPEN CC- 2/OPEN PH	CODO/DO DO/CFS	Only for CODO and CFS sites	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
17	On SH 34, between EMS Memmorial Town Hall, Koilandy & Kanayankode bridge.	Kozhikode	Regular	117	Open	DODO	-	30	30	900	25	70	DOL	15	5
18	On Mavungal - Panathur road, within 3 KM from St Mary's Church, Chullikara.	Kasargod	Regular	110	Open	DODO	-	30	30	900	25	70	DOL	15	5
19	On State highway, between Pooladikunnu water tank and Eranjikkal Post Office.	Kozhikode	Regular	160	OBC	CODO	51	30	30	900	25	10	Bidding	30	4
20	On LHS of NH 66 (towards Kannur from Kozhikode) from Payyoli Bus stand to Thikkody Panchayat Office.	Kozhikode	Regular	161	Open	CODO	22.9	30	30	900	25	10	Bidding	30	5
21	On NH 966, between MSP High School and Kootilangadi.	Malapuram	Regular	165	SC	CFS	28	30	30	900	-	-	DOL	Nil	3
22	On Kalpetta - Mananthavady SH, from Mananthavady Sub Regional Transport Office to Kanjimukku Post Office.	Wayanad	Regular	121	Open	DODO	-	30	30	900	25	70	DOL	15	5
23	On KSTP road, between Kanhangad RT office and KSEB Office, Chittari.	Kasargod	Regular	157	OBC	CODO	28	30	30	900	25	10	Bidding	30	4
24	On SH 65, between Pravasi Seva Kendra, Kizhisseri and Valappamkundu Junction.	Malapuram	Regular	110	Open	DODO	-	30	30	900	25	70	DOL	15	5
25	On SH 34, between Kuttoli bus stop and Eranjimaavu Junction.	Malapuram	Regular	167	ST	CFS	22.9	30	30	900	-	-	DOL	Nil	3
26	On NH 66 between Pooladikunu Jn and Vengeri Jn in Kozhikode.	Kozhikode	Regular	160	OBC	CODO	51	30	30	900	25	10	Bidding	30	4
27	On Thaliparambu - Manakadavu - Coorg road, between Thaliparambu Lions Club & Oduvallithattu bus stand.	Kannur	Regular	115	Open	DODO	-	30	30	900	25	70	DOL	15	5
28	On SH 65, between Tirurangadi Police Station & East Bazar, Tirurangadi.	Malapuram	Regular	140	Open CC-1	DODO	-	30	30	900	25	70	DOL	15	5
29	On NH 966, between Konompara Masjid and MB Hospital, Downhill, Malapuram.	Malapuram	Regular	155	OBC	DODO	-	30	30	900	25	70	DOL	15	4
30	On NH 766 (Old NH 212), between Koduvally Sub Regional Transport Office (Civil Station) and Vavad Village Office.	Kozhikode	Regular	175	SC	CFS	22.9	30	30	900	-	-	DOL	Nil	3
31	On NH 66, between Poyikavu Bus stop and Melur Post Office.	Kozhikode	Regular	150	Open	DODO	-	30	30	900	25	70	DOL	15	5
32	On NH 966, between PTM HSS Thazhekode and Karinkalthani Junction.	Malapuram	Regular	150	Open	DODO	-	30	30	900	25	70	DOL	15	5
33	On SH 73, between Pookattiri Junction and Junction with NH 66 at Valanchery.	Malapuram	Regular	123	OBC	DODO	-	30	30	900	25	70	DOL	15	4
34	On Thalassery-Irrity -Coorg Highway, between Govt Ayurveda Dispensary, Ulliyil and Keezhoorkunnu bus stop.	Kannur	Regular	164	SC	CFS	22.9	30	30	900	-	-	DOL	Nil	3
35	On SH 38, between Nochad Village office and Karuvannur Post Office.	Kozhikode	Regular	108	Open	DODO	-	30	30	900	25	70	DOL	15	5
36	On NH 66 between Karripol Post office, Vettichira and Vattappara Masjid.	Malapuram	Regular	150	Open	DODO	-	30	30	900	25	70	DOL	15	5
37	On Iritty - Nedumpoil - Peravoor road, between Payancheri Mukku and Govt UP School, Vilakkode.	Kannur	Regular	124	Open	DODO	-	30	30	900	25	70	DOL	15	5
38	On any main road within Nilambur Municipal Limits.	Malapuram	Regular	140	OBC CC-1	DODO	-	30	30	900	25	70	DOL	15	4
39	Between Ernad Taluk Office, Manjeri & Manjeri town junction.	Malapuram	Regular	142	SC CC-1	CFS	28	30	30	900	-	-	DOL	Nil	3

Loc.No	Name of the Location	Revnue District	Type of RO	Estimated Monthly Sales Potential #	Category	Type of Site*	Rent per month in Rs.P per Sq.mt	Minimum Dimension /Area of the site **			pe arranged by ant in Rs Lakhs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit	
1	2	3	4	5	6	7	7A		8		9a 9b		10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC-1/OPEN CC- 2/OPEN PH	CODO/DO DO/CFS	Only for CODO and CFS sites	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
40	On any major road within Sreekandapuram Municipal Limits.	Kannur	Regular	130	Open PH	DODO	-	30	30	900	25	70	DOL	15	5
41	On Pilathara - Pappinisheri KSTP road, between Pazhayangadi Bus stop and Mandoor Juma Masjid.	Kannur	Regular	150	OBC	DODO	-	30	30	900	25	70	DOL	15	4
42	On SH 28, between Thrikkalangode Krishi bhavan and Ezhukalari Ration Shop.	Malapuram	Regular	113	Open	DODO	-	30	30	900	25	70	DOL	15	5
43	On NH 66, between Puthanathani bus stand and Trust hospital, Randathani.	Malapuram	Regular	169	SC	CFS	22.9	30	30	900	-	-	DOL	Nil	3
44	On SH 28 (Nilambur - Gudalur) road, between Chungathara Panchayat Office and Muttikadavu Bus Stop.	Malapuram	Regular	111	Open	DODO	-	30	30	900	25	70	DOL	15	5
45	On Perinthalmanna - Pattambi State highway, between Kattupara bus stop and Pulamanthole Panchayat Office.	Malapuram	Regular	115	OBC	DODO	-	30	30	900	25	70	DOL	15	4
46	On SH 34, between Thayekod UP School, Agasthyamuzhi and Omassery bus stand.	Kozhikode	Regular	119	Open	DODO	-	30	30	900	25	70	DOL	15	5
47	ON SH38 betwwen Iringanur post office and Mekunnu primary health centre.	Kozhikode	Regular	115	Open	DODO	-	30	30	900	25	70	DOL	15	5
48	On NH 966, between Morayur Village office and Mongam Sub Post Office.	Malapuram	Regular	162	SC	CFS	22.9	30	30	900	-	-	DOL	Nil	3
49	On SH 28, between Valluambaram and Manjeri.	Malapuram	Regular	110	OBC	DODO	-	30	30	900	25	70	DOL	15	4
50	On Kanhagad - Kasargod KSTP road, between Kasargod press club and Udma town.	Kasargod	Regular	106	Open	DODO	-	30	30	900	25	70	DOL	15	5
51	On any major road in Tanur Municipal limits.	Malapuram	Regular	130	Open CC-1	DODO	-	30	30	900	25	70	DOL	15	5
52	On Feroke college road (via Kokkivalavu Jn) between Feroke Chungam Jn and Feroke College.	Kozhikode	Regular	172	SC	CFS	28	30	30	900	-	-	DOL	Nil	3
53	On Kalpetta bypass, between Janamythri Park and Mayo Hospital.	Wayanad	Regular	140	OBC	DODO	-	20	20	500	25	60	DOL	15	4
54	On SH 62, between Govt. Ayurvedic Dispensary, Puranga & Puranga Post office.	Malapuram	Regular	108	Open	DODO	-	30	30	900	25	70	DOL	15	5
55	On Vaduvanchal - Chundale SH, between Rippon Post Office and Junction with DM WIMS Hospital, Arapetta.	Wayanad	Regular	109	Open	DODO	-	30	30	900	25	70	DOL	15	5
56	On SH 73, between Arikandampak bus stop and Paramboor bus stop.	Malapuram	Regular	111	OBC	DODO	-	30	30	900	25	70	DOL	15 N::	4
57	Any major roads with in Kannur Corporation Limits.	Kannur	Regular	115	SC	CFS	51	30	30	900	-	-	DOL	Nil	3
58	On Tirur - Kadalundi road, between Kadalundi Nagaram Post Office & Chettipadi post Office.	Malapuram	Regular	120	Open	DODO	-	30	30	900	25	70	DOL	15	5
59	On Nileshwaram - Malom road between Nileshwaram Govt Taluk headquarter hospital and Nileshwaram Block Office.	Kasargod	Regular	109	Open	DODO	-	30	30	900	25	70	DOL	15	5
60	On SH 73, between Wandoor bus stop to Cherucode Zamam Masjid.	Malapuram	Regular	119	OBC	DODO	-	30	30	900	25	70	DOL	15	4
61	On any major road within Kozhikode corporation limits.	Kozhikode	Regular	150	ST	CFS	51	30	30	900	-	-	DOL	Nil	3
62	On Manjeri - Malapuram SH, between Irumbizhi Post Office and AMUP School, Munduparamba.	Malapuram	Regular	108	Open	DODO	-	30	30	900	25	70	DOL	15	5
63	On Irrity - Mananthavady Malabar Hillway, between Kottiyoor Grama Panchayat & St Mary's shrine, Ambayathode.	Kannur	Regular	107	Open	DODO	-	30	30	900	25	70	DOL	15	5

				Estimated			Rent per							Fixed Fee	
Loc.No	Name of the Location	Revnue District	Type of RO	Monthly Sales Potential #	Category	Type of Site*	month in Rs.P per Sq.mt		n Dimensio the site **	-		Finance to be arranged by the applicant in Rs Lakhs		/ Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7A		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC-1/OPEN CC- 2/OPEN PH	CODO/DO DO/CFS	Only for CODO and CFS sites	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
64	On Bavuparambu - Chorukkala road, between Badr Masjid Bavuparamba & Junction with SH 36.	Kannur	Rural	104	Open CC-2	DODO	-	30	30	900	20	50	DOL	5	4
65	Between Pilathra and Kadannapally Panchayat Office.	Kannur	Rural	95	OBC CC-1	DODO	-	30	30	900	20	50	DOL	5	3
66	On Valiyannur - Nayattupara road, between Kuddalkandi and Vaduvankulam.	Kannur	Rural	85	SC CC-1	CFS	16.6	30	30	900	-	-	DOL	Nil	2
67	On Ayancheri - Theekunni road, between CPIM Local Committee Office, Kakunni and Cherapuram Post Office.	Kozhikode	Rural	124	Open	CODO	16.6	30	30	900	20	10	Bidding	10	4
68	On Kumbla - Badiyadka road, within 2 KM on either side of Naikapp Junction.	Kasargod	Rural	110	Open	DODO	-	30	30	900	20	50	DOL	5	4
69	On Uruvanchal - Kakkayangad road, between Thilenkery Service Co operative bank and Kakkayangad.	Kannur	Rural	131	OBC	CODO	16.6	30	30	900	20	10	Bidding	10	3
70	On Chelari - Chettipadi road, between Kodakkad Post office and Moduvingal bus stop.	Malapuram	Rural	138	SC	CFS	16.6	30	30	900	-	-	DOL	Nil	2
71	On Kootilida - Balussery road, between Lohia Memorial LP School, Kottaramukku & Ayyappa Bhajana Madam, Nirmallur.	Kozhikode	Rural	123	Open	CODO	16.6	30	30	900	20	10	Bidding	10	4
72	On Puthige - Perla road, between GHSS, Angadimogaru and Bedrampalla.	Kasargod	Rural	90	Open	DODO	-	30	30	900	20	50	DOL	5	4
73	On Thalassery - Baveli - Mananthavady road, between Manantheri village Office and Chittariparambu Govt Higher Sec School.	Kannur	Rural	120	OBC	DODO	-	30	30	900	20	50	DOL	5	3
74	On Aanakayam - Thirurkad road, between Mankada Panchayat Office & Vellila, Salafi Juma Masjid.	Malapuram	Rural	90	Open	DODO	-	30	30	900	20	50	DOL	5	4
75	On Naduvannur Iringathu road between EMS grandhalyam chavattu and post office Naduvannur.	Kozhikode	Rural	124	ST	CFS	16.6	30	30	900	-	-	DOL	Nil	2
76	On Puthanathani - Thirunavaya road, between Puthanathani Jn and Supriya Speciality Hospital.	Malapuram	Rural	125	Open	CODO	16.6	30	30	900	20	10	Bidding	10	4
77	On Kunnamangalam-Mukkam road, between Kunnamangalam Federal Bank and Chaliyedath Bhagavathi Temple, Chathamangalam.	Kozhikode	Rural	113	OBC	DODO	-	30	30	900	20	50	DOL	5	3
78	On Bovikanam - Kuttikol road, between Bovikanam and Kanathur.	Kasargod	Rural	85	Open CC-1	DODO	-	30	30	900	20	50	DOL	5	4
79	On Mavoor road, between Kozhikode Medical College to Peruvayal Panchayat office (Not within Corporation / Municipal Limits)	Kozhikode	Rural	127	SC	CFS	16.6	30	30	900	-	-	DOL	Nil	2
80	'On EMEA Collage – Calicut Airport road, via Kumminipara, between EMEA College Ground and Melangadi (Not on state highway)	Malapuram	Rural	102	OBC	DODO	-	30	30	900	20	50	DOL	5	3
81	Munderimotta to Jayan Peedika, Munderi.	Kannur	Rural	95	Open	DODO	-	30	30	900	20	50	DOL	5	4
82	On Kollam - Meppayur road, from Kollam jn (on NH 66) to Keezhariyur panchayat office.	Kozhikode	Rural	100	Open	DODO	-	30	30	900	20	50	DOL	5	4
83	On Vazhakkadu - Oorkadavu road, between Kalpally Masjid and Kavannakallu mini stadium.	Malapuram	Rural	104	OBC	DODO	-	30	30	900	20	50	DOL	5	3
84	On Tirur - Kuttipuram road, between Rangatoor Juma Masjid & Chembikal Masjid.	Malapuram	Rural	137	SC	CFS	16.6	30	30	900	-	-	DOL	Nil	2

Loc.No	Name of the Location	Revnue District	Type of RO	Estimated Monthly Sales Potential #	Category	Type of Site*	Rent per month in Rs.P per Sq.mt		n Dimensio the site **	-		oe arranged by Int in Rs Lakhs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7A		8		9a 9b		10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC-1/OPEN CC- 2/OPEN PH	CODO/DO DO/CFS	Only for CODO and CFS sites	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
85	On Seethangoli Vidyanagar road, between Seethangoli Junction and DIET School.	Kasargod	Rural	90	Open	DODO	-	30	30	900	20	50	DOL	5	4
86	On Vaniambalam-Pookotumpadam road, between Govt LP School Shantinagar and MES Central School Athanikkal.	Malapuram	Rural	117	Open	DODO	-	30	30	900	20	50	DOL	5	4
87	On Perambra - Koorachundu Road between Chembra Palam and Migration Memorial Chappel, Chembra.	Kozhikode	Rural	113	OBC	DODO	-	30	30	900	20	50	DOL	5	3
88	On Manjeri - Pandikad road, between Valluvangad South Post Office & Valiyathrapadi bus stop.	Malapuram	Rural	128	SC	CFS	16.6	30	30	900	-	-	DOL	Nil	2
89	On Permude - Bandiyod road between Ichilangod Village Office to Pachambalam Dargah.	Kasargod	Rural	105	Open	DODO	-	30	30	900	20	50	DOL	5	4
90	On Areakode - Othayi - Edavanna road between Othayi East Salafi Masjid and Verupalam Salafi Masjid.	Malapuram	Rural	104	Open	DODO	-	30	30	900	20	50	DOL	5	4
91	On Kinavakkal - Vengad road, between Kinavakkal mosque and Mangathidam post office.	Kannur	Rural	92	OBC PH	DODO	-	30	30	900	20	50	DOL	5	3
92	On any major road within 1.5 KM from Nannambra Panchayat Office, Kundoor.	Malapuram	Rural	90	SC PH	CFS	16.6	30	30	900	-	-	DOL	Nil	2
93	On Thalassery - Mambram MDR, between Pinarayi post office and Mambram (Jn with SH 38).	Kannur	Rural	95	Open	DODO	-	30	30	900	20	50	DOL	5	4
94	On Kalaranthiri road, between DYFI office, Kalranthiri & UP School, Andona.	Kozhikode	Rural	101	Open	DODO	-	30	30	900	20	50	DOL	5	4
95	On Vailathur - Tanalur road, Thanalur Panchayat Office to Muttipalam bus stop.	Malapuram	Rural	95	OBC	DODO	-	30	30	900	20	50	DOL	5	3
96	On Payyoli Perambra road, between Thurayur panchayat office & Iringath Post Office.	Kozhikode	Rural	100	Open	DODO	-	30	30	900	20	50	DOL	5	4
97	On Meenagadi - Panamaram road, between Kariampady Mosque & Panamkandy School Junction.	Wayanad	Rural	130	SC	CFS	16.6	20	20	500	-	-	DOL	Nil	2
98	On Pandallur Pandikkad road between Chittathupara bridge and Pandallur.	Malapuram	Rural	100	Open	DODO	-	30	30	900	20	50	DOL	5	4
99	On Valad road, between Cheriyammola Juma Masjid and St Sebastian Church, Poroor.	Wayanad	Rural	95	OBC	DODO	-	20	20	500	20	50	DOL	5	3
100	On Parakadavu - Kallikandy road, between Parakadavu Bridge and Chettakandy Bus stop.	Kozhikode	Rural	105	Open	DODO	-	30	30	900	20	50	DOL	5	4
101	On Vadakara - Ayanchery road, between Govt. Sanskrit HSS Vadakara and Thiruvallur Govt. Homeo Dispensary.	Kozhikode	Rural	127	ST	CFS	16.6	30	30	900	-	-	DOL	Nil	2
102	On Manjeri - Melatoor road, between Kakkulam High School and Pandikkad Police Station.	Malapuram	Rural	115	OBC	DODO	-	30	30	900	20	50	DOL	5	3
103	On Kondotty Edavanapara road, between BSNL office Kondoty & Mundakkulam.	Malapuram	Rural	95	Open	DODO	-	30	30	900	20	50	DOL	5	4
104	On Neerchal - Madhur road, within Madhur village.	Kasargod	Rural	92	Open CC-1	DODO	-	30	30	900	20	50	DOL	5	4
105	On Kakkanchery- Kotappuram Road, between Kakkancherry & Kottappuram Market, not on NH/SH.	Malapuram	Rural	98	OBC	DODO	-	30	30	900	20	50	DOL	5	3
106	On Areakode - Vazhakode road, between Mother Hospital and Jn of Areakode - Vazhakode road with SH 34.	Malapuram	Rural	128	SC	CFS	16.6	30	30	900	-	-	DOL	Nil	2
107	On Ooty road, from St Thomas Jacobite church, Malankara to Nenmeni Panchayat Office.	Wayanad	Rural	105	Open	DODO	-	20	20	500	20	50	DOL	5	4

Loc.No	Name of the Location	Revnue District	Type of RO	Estimated Monthly Sales Potential #	Category	Type of Site*	Rent per month in Rs.P per Sq.mt	Minimun	Minimum Dimension /Area of the site **				Finance to be arranged by the applicant in Rs Lakhs		Fixed Fee / Minimum Bid amount	Security
1	2	3	4	5	6	7	7A		8		9a	9b	10	11	12	
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC-1/OPEN CC- 2/OPEN PH	CODO/DO DO/CFS	Only for CODO and CFS sites	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding		in Rs Lakhs	
108	On Veerpad - Aralam road, between Aralam Service Co-Operative bank & Rahmath Masjid, Mankunnu.	Kannur	Rural	102	Open	DODO	-	30	30	900	20	50	DOL	5	4	
109	On Meppadi road between Junction of NH 766 with Meppadi road & Kappamkolly Juma Masjid, Chembothara.	Wayanad	Rural	108	ОВС	DODO	-	20	20	500	20	50	DOL	5	3	
110	On Manjeri - Kizhisseri road, between Pulpatta Village office and Al Amal Hospital, Thripanachi.	Malapuram	Rural	127	SC	CFS	16.6	30	30	900	-	-	DOL	Nil	2	

- \* Rentals shown under 7A are only for CFS and CODO type of sites. There will be 2% increase in rentals every year during the lease period with MRPL.
- # Volumes Indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of the potential.
- \*\* The site should be either owned or on lease with the applicants for minimum 19 years and 11 months or the applicant should have firm offer for the land as on date of application.

Finance to be arranged by applicants (under column 9A and 9B) is based on MRPL assessment at prevailing rates. The applicants are advised to make their own assessment of the same before applying.

Sites offered against "Rural" type of ROs should not be on National/ State Highways or within Municipal/ Town/ Corporation limits.

"On any Main/mojor Road" mentioned in the name of locations above, refers to roads having minimum carriage way width of atleast 7 metres.

The explanation for the columns is provided in the brochure which also contains the detailed guidelines of selection for dealership along with other relevant details.

The brochure can be downloaded from MRPL website at

www.mrpl.co.in

The application form and other appendices are also available for download from MRPL website.

- --> APPLICANTS IN THEIR OWN INTEREST SHOULD CAREFULLY GO THROUGH THE BROCHURE AND UNDERSTAND THE CONDITIONS FOR SLECTION BEFORE SUBMITTING THEIR APPLICATION
- --> The completed application form along with relevant application fee in the form of a demand draft in favour of "MANGALORE REFINERY AND PETROCHEMICALS LIMITED" payable at MANGALORE should reach the following address on or before 17:00 HRS on 25-06-2021
- --> Completed application form to be submitted to the below mentioned address in a sealed envelope superscribed as below
  - " APPLICATION FOR .......(REGULAR/RURAL) RO DEALERSHIP AT......(Loc-no- as per col 1 above table),......DISTRICT of Kerala to be addressed to:

NRO Dealership Selection
MRPL HiQ Petrol Pump,
Near MRPL Cargo Gate,
Kuthetoor (PO), Via Kattipalla
Mangalore, Karnataka - 575030
Contact Mangalore: 0824 2883294/ 2751
Contact Bangalore: 080-22642234/2235

Application received after the cutoff date and time will be rejected outright. MRPL will not be responsible for any delay including post delays.

## Category wise non-refundable application fee payable

Type of RO	Category	Application fee in Rs	Type of RO	Category	Application fee in Rs
	SC/ST	3000		SC/ST	2500
REGULAR	OBC	5000	RURAL	ОВС	4000
	Open	10000		Open	8000

- --> The tenure of dealership will initially be for a period of 10 years and will be renewable every 5 years there on.
- --> MRPL reserves the right to cancel / withdraw / amend or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in vernacular dailies vis a vis English Newspaper, the direction / information indicated in English will prevail.